WJ &EAN

EARAY

W.J-LEAN - November 202341173

e A& %

HA—HAXFEMREL

ﬂﬁ%ﬁﬁﬂ]fbﬁ%ﬂﬁ(ﬁ?mﬁ)ﬁ fRaE

-LEANTECHNOLOGY COMPANYLIMITED

%S5 DONGGUAN HEADQUARTER

fhiit: ZRemAlE LEAAEXIRILE609S

Address: No.609, Dalingshan Section, Shida Road, Dalingshan Town,
Dongguan City, Guangdong Province, China

BEig (Tel) : (86)0769-81882709

ALUMINUM
TUBE SYSTEM

AHRREEEFRRBIRAE KARAKURISYSTEM

SHENZHEN JIEYOU PRECISION DIE CASTING TECHNOLOGY CO,, LTD n ﬂ I
Y4358 SHENZHEN BRANCH n E b=

ik R ER X RERBAEEIEES03E R

Address: 503 Room Xinghe Yayuan, Songming Avenue , ’\ﬁ — Z_;jj{‘tﬁﬁ"
Songgang Town, Baoan District, Shenzhen China IE ‘3-'7.] =

i (Tel) : (86)0755-33940262

ERB MR ERR(REH)ERAE

WIJ-LEANTECHNOLOGY COMPANY LIMITED



01

It m

HRENHRERNERATIE—RETTIURRNERABROSEZNERAE. QELEMAT
IFHRER, ThhEESEK, A2XENMERRBEERSIE. Fml 2 NATHUIERGE R &
RKEMiERE, TAFEUKEMEET, MENENRERFFNEIRE, TliakkelkeZehiricE. €
SRTF. AETPHREETL, KB, I, KE S, BETFRH. BEREFNE. HEE2020
F, BWAEReHFREMEL EFH~m.

HAMERBETRATNSIFATRAR MO ENRRT ZRZLGNET2N™m. AREEME
MiTLFRAER, SEARTMBIWERRERRE, BmErRi %, GURERRE, TFSRRR
INEBEEERRE., ARmEr-Ba. ARIEMAKE S ERMHTHAIBRLE.

WJ-LEAN Technology Company Limited is a focusing on industrial construction and its technical
solutions.The company is headquartered in Dongguan, Guangdong, with a global market layout and
comprehensive service agencies in many countries.Products are widely used in mechanical frame structure and
various parts connection, industrial assembly line and conveyor belt, small motor equipment and non-standard
mechanical and electrical equipment, industrial inspection and testing and safety protection equipment.Including
electronics, auto parts assembly lines, home appliances, chemicals, furniture advertising, medical food, cleaning
equipment and other fields. By 2020, WJ-LEAN has provided more than a thousand products to the world.

We use highly adjustable mechanisms and actuators as well asother necessary solutions to deliver fully
functional products.The company has all industry preduct systems, including but not limited to MB industrial
aluminum profile assembly system,lean production.

-

CONTENTS

ALUMINUM PIPE

BRHE

ALUMINUM JOINT

BEVHR B 2%

MOVABLE ACCESSORIES

QLG

ACCESSORY FOR ALUMINUM TUBE

EEME

PLASTIC GUIDE

19851

43 SERIES

43%5]

TECHNICAL DATA

BAREE

03

09

12

26

31

33

38

52

55

59

64

67

02



28mm series

ALUMINUM PIPE

Roller Colorffifa Material# & LengthicE

@s. sivers

6063T5

YE yellowE®
ESD [hERE

@c«icze

Standard Length.
[=4000mm Or L=6000mm

Other Lengths Can Also
Be Customized,
Mog=1000pcs

03

AN
AP-28A-1.2 @sL

28
TR0
o N

T=1.2

606375

0.34kg/m

IR ¢ 6 Meters

AP-28A-1.7 ®sL

YE @BK

YE @BK

Material 6063TS

0.45kg/m
4/6 Meters

AP-28C ®sL

AP-28E

[ Material [NEVGEE

Weight 0.66kg/m

-mlm 4/6 Meters

AP-28R-1.5

AP-28B

Jdid NNNIANNTY  [RES

6063T5

Weight 0.42kg/m

4/6 Meters

@®sL YE @BK

Ry

6063T5
0.72kg/m
4/6 Meters

@®sL

30.50

16.50

6063T5
| Weight | 0.57kg/m
_ ength 4/6 Meters

@®sL

28

0.67kg/m

IETTION 4/6 Meters

04



%
\2\%% ev’e

6063T5S
0.4kg/m
4/6 Meters

AP-28] @sL

6063TS
1.02kg/m
RSN 40 Meters

606315
0.72kg/m
4/6 Meters

AP-28I @sL

28

6063T5

EANEN
AP-28L1 @SL  T=1.0MM

e

e

T=1.0
6063TS5

0.379kg/m

IR ¢ 6 Meters

AP-2813 @sL  T=2.0MM

Ty
A
\ A

T=2.0

[ Material [URER
0.49kg/m
[ Length NGNS

AP-28N @sL

AP-2812

%

AP-28M

Jdid NNNIANNTY  [RES

6063T5

IETTIINN 6 Micters

_28.70
14.75

L 1.60

«

EI
h—
]

6063T5

sight 0.48kg/m

4/6 Meters

y




3did WNNIWNNTY TEES

07

Gl s
BT e

13.5

606315
0.46kg/m
4/6 Meters

Ea

5
;

98

60637
[ Weich  [RICERONS

4/6 Meters

4/6 Meters

606375
0.62kg/m
4/6 Meters

6063T5
1.49kg/m
RSN 40 Meters

AF-005B @sL

55

6063Ts
1.49kg/m
4/6 Meters

[ Profile  EIEES
AF-006 ®sL

IR 46 Viciers

AF-008 ®sL

o 09l
pe=1
:
[=]
=
L=l
——] [
7.40
11.5
26.40
IEEYESEI 606575

0.32kg/m
[ Lenoth  JENGRVISIEN

o
2=

C

IETTIINN 6 Micters

Jdid NNNIANNTY  [RES

08



Plastic Cap BREE

N
»‘§
N
P
N
QS
|

dvD DI11SVd Bt SRS

0.003 ke

24
F

J

0.005 kg 500 pes

0 2 PLASTIC CAP

®cE  GR @BK

WL E 2

Roller Colorfifa Material# &

. EB ESDBLACKPr&FaEE £ 0.003 kg 500 pes 0.001 kg 2000 pes
@®:cB (' GR @BK 28C-5B @R (GR @BK
C A R P SX
O cRr crAYRE plastic B 77 T
EE H, -+ U
\‘Il‘::t\\ "//'j;: J |
e 7

.BK BLACKEZ &

1000 pes

1000 pes 0.008 kg

0.006 kg

09 10



(sean

B S

BRI o <c: e

dvD D11SVYd BBk

1000 pes 0.008 kg 1000 pes
28C-6A ®cE (GR @BK 28C-6B ®c2 (GR @BK
‘\SU 59?:’[ ) )
/
[ f\b{
H—&H\{ ]
! LﬁrJ ~

=

0 3 ALUMINUM JOINT

0.007 kg

28C-1 . @EB ©OGR @BK

500 pes 0.005 kg

BHZ U

Series&: 7l Roller Colorffifa Materialtd & LengthicE

0.006 kg 500 pes

Extrusion #&

@s. sive s 6063T5

28mm series

Die—-casting &5

11 12



LNIOr WNNIWNTY NEXEHD

13

ik

0.056 ke

180 pes

0.056 kg Packape

0.056 kg 250 pes

0.048 kg

250 pes

< 298

Bk

28)-1B-1.1

0.048 ke

0.058 kg

0.052 kg

0.12kg

250 pes

150 pes

250 pes

90 pes

i
&
li
B . M6x22
44 19 M6
dh |
@28
“LAE L g
a5 5
LA - b_‘i/k‘ %
! - x; Méx22
\\‘? ‘ M6
45° -
-
¥,
- i 45
28 ‘,}Z) ‘\20‘ \
AL
. 45°
MEx18
Me —_—

INIOF ANNINNTY YeiEER

14



@aiean

4
= Aluminum Joint iS58 £
£ £
= 281-4A >
E ms =
= -t 38 265 | =
: ol @ =
o = =
= - Z
= 2 =
e W
[ 1
Py
72
B6 20 |
0.1 1kg 125 pes 0,043 kg
28)-3B
505 — 63 .
® e © =
—— Ma Y - ;
X
ME=22
M6 1o
IS
- 64 —28.5——23—

0.15kg

70 pes 0.123 kg 96 pes

281-5A

124.4

Weight 0.122 kg

28

J_L Méx22
M6

28

0.096ke

90 pes ’ 1 0.056kg 90 pes



LINIOF WNNIWNTY SeRGEn

17

ik

0.122 ke

281-8

0.04kg

0.051 kg

0.023 ke

= H

400 pes

500 pes

- 31; oy
. ]
28
| Pﬂ'f‘
{ i 1
28 | i r
T A A
28

| —F5
2t O] Bk

. | MBx22

1.5

I
- ISP
L
t
L a2d | | - Mex20
|_Ww-|3 .
MB-20
I g -7\, || / :.‘-l—.‘ |
S dﬁf |
- 40 o=
68
-2

M-

taEk
28)-98B

0.027ke

0.23 kg

0.082 kg

0.074kg

50 pes

180 pes

150 pes

INIOr WNNIWNTY YediEn

F*'MBx12Grub screw

[N
=1

\ MBx12

s
j

18



RISk G2 S

&2 8
& &
o EEZTEE | 28115\ 5
> >
= (=
= c
£ £
= =
E= =
=z =
(3= ' y —
o 5.5 ! 9
= T &

9 20

LI | »

5'.5. '

-1 - = 32 e

0.013 ke

0.075ke

105 pes

o — [ 23 1
" T
— & \
£ AN /
= =T \; = —
\\\ SRS =
N B AL-16 - 2°AL-1A
=
% 4
D
<@ ‘
bt
F - ]
7
0.0 kg 1000 pes 0.078kg

281-138

0.07 kg

2000 pes 0.078 kg

70 pes

28]

M S . 435
V N\
b
i
a4 23
e
43 ! 33
_/ |

0.065 kg

150 pes D = 0.076 kg

100 pes i

19 20



28J-19A

LINIOF WNNIWNTY SeRGEn

0.072ke

281-198

0.072kg

0.037 kg

0.024kg

21

ik

ik

0.052ke

0.07ke

0.13kg

281-25A-56

LINIOF ANNINNTY YRS EE

gm

ﬂ.

2

i
)

56

& @

| AT
R

!




s

281-25A-100

LNIOr WANIWNTY Yt ER

I 0 084ke

281-258-36

24
ﬁ*ﬁJ Praaxs
71N F N
NG N AT
AN s
0.052kg 300 pes
28)-25B-100
24

' xS

A A

AR T
P T

BTN 00sske  EETSTTNN 200 pes

IS 0 062ke

150 pes

23

68
%0
12
,__“‘!'_'}’
]
@ |
(=]
o
| i
| 1%
|
A MEx20
er-ﬂ
| "-..,.1 ! "‘-41
! !
[ i
! 1
! '8
i \
i i
i i
1 |
b e J
28" iy M6 12
Fal
43
R
|| 1
12|
| | 8
L]
| Vo
| ]

b

ek
281-278-50

0.041kg

281-27A-100

0.05kg

281-218-30

AP 0056k

281)-27B-100

ISP .05 ke

a0

14

100

‘\_f,

LINIOF WNNIWNTY Yt HE




@

8
&
ES
>
=
c
=
=
<
o
=
—

25

J-L'Eﬁ:!N

m 2

gk

281-28

0.175kg

IR 100pcs

Q= red

SeriesE7%

Flat plaie fixed Series
FiEIER

Insertion Caster Series
T

Wheel material
TR
TPR AR MR R
PU BRI

Rubber 8

2”

OD=50mm

3“

OD=75mm

Model explanation
A E

A Without brake
AHERIE

B brake
SIS

C Fixed
EE=

Bushing Cater Series
LEFFHR N

.EB ESD Black

O EG ESDGRAY

Frame Material
SRR
Steel #&H &R

4"

OD=100mm

5"

OD=125mm

WJ-301A-ESD
W.J=LEANEIE R
WJ=shart for WJ-LEAN

3

3=3"

FirEE

1=Flat plate fixed Series
FHFE

A=ithout brake

PRfFESF
ESD=EAD black wheels

26



y3lsvo BE

27

FiREEmE RS

A
©)

E

ETHR R

Offset
gl ol AL O i et R
eries (inch) (mm) F RBOE (N) (mm) (@) (pcs)
HE (mm)
WJ-301A 3" 75mm 7060 TPR/PU/Rubber steel 35 800 95 630 50
WJ-301A-ESD 3" | 75mm 7060 TPR/Rubber steel 35 800 95 630 50
WJ-301B 3" 75mm 7060 TPR/PU/Rubber steel 35 800 95 730 50
WJ-301B-ESD 3" | 75mm T0'60 TPR/Rubber steel 35 800 95 730 50
WJ-301C 3" 75mm 7060 TPR/PU/Rubber steel / 800 95 450 50
WJ-301C-ESD | 3" | 75mm | 70'60 TPR/Rubber steel |/ 800 95 450 50
WJ-401A 4" 1 100mm 90100 TPR/PU/Rubber steel 32 1200 132 740 40
WJ-401A-ESD | 4" |100mm | 90*100 TPR/Rubber steel | 32 1200 132 740 40
WJ-401B 4" | 100mm 90*100 TPR/PU/Rubber steel 32 1200 132 910 40
WJ-401B-ESD 4" | 100mm 90*100 TPR/Rubber steel 32 1200 132 910 40
WJ-401C 4" | 100mm 90*100 TPR/PU/Rubber steel / 1200 132 550 40
WJ-401C-ESD 4" | 100mm 90"100 TPR/Rubber steel / 1200 132 550 40
WJ-501A 5" | 125mm | 120*110 TPR/PU/Rubber steel 32 1600 190 900 30
WJ-501A-ESD 5" [ 125mm | 120*110 TPR/Rubber steel 32 1600 190 900 30
WJ-501B 5" | 125mm | 120*110 TPR/PU/Rubber steel 32 1600 190 1050 30
WJ-501B-ESD | 5" |125mm | 120110 | TPRPURubber | steel | 32 1600 190 1050 30
WJ-501C 5" | 125mm | 120*110 TPR/Rubber steel / 1600 190 750 30
WJ-501C-ESD | 5" |125mm | 120110 | TPRPURubber | steel | / 1600 190 750 30

Offset
e B g Gl el GO REC mm ek ER
eries (inch) (mm) FE BUE (N) (mm) (9) (pcs)
BE (mm)

WJ-202A 2" 50mm M12*60 TPR/PU/Rubber steel 22 300 67 280 100
WJ-202A-ESD Fet! 50mm M12*60 TPR/Rubber steel 22 300 67 280 100
WJ-202B 2" 50mm M12*60 TPR/PU/Rubber steel 22 300 67 300 100
WJ-202B-ESD gt 50mm M12*60 TPR/Rubber : steel 22 300 67 300 100
WJ-202C 2" 50mm M12*60 TPR/PU/Rubber steel / 300 67 280 100
WJ-202C-ESD | 2" | 50mm | M12'60 TPR/Rubber steel |/ 300 67 280 100
WJ-302A 3" 75mm M12*60 TPR/PU/Rubber steel 35 500 95 480 50
WJ-302A-ESD | 3" | 75mm | M12'60 TPRIRubber steel | 35 500 95 480 50
WJ-302B 3" 75mm M12*60 TPR/PU/Rubber steel 35 500 95 580 50
WJ-302B-ESD A 75mm M12*60 TPR/Rubber steel 35 500 a5 580 50
WJ-302C 3" 75mm M12*60 TPR/PU/Rubber steel / 500 95 450 50
WJ-302C-ESD 3" | 75mm M12°60 TPR/Rubber steel ! 500 85 450 50
WJ-402A 4" 1 100mm | M12*60 TPR/PU/Rubber steel 32 600 132 630 40
WJ-402A-ESD 4" 1 100mm | M12'60 TPR/Rubber steel 32 600 132 630 40
WJ-402B 4" | 100mm M12*60 TPR/PU/Rubber steel 32 600 132 780 40
WJ-402B-ESD | 4" |100mm | M12'60 TPR/Rubber steel | 32 600 132 780 40
WJ-402C 4" | 100mm | M12*60 TPR/PU/Rubber steel / 600 132 620 40
WJ-402C-ESD | 4" | 100mm | M12'60 TPRIRubber steel |/ 600 132 620 40

Hilsvo BE

28



y3lsvo BE

Offset
Frame Distance Loading H Weight Package
Material PIA  7RE BE BE ]
F8 RBOE (N) (mm) (@) (pcs)

Insertion Wheel Material

D
T
Caster Dia E
) HFHIE BFHE

Series (inch) (mm

& (mm)
WJ-203A 2" | 50mm M12*35 TPR/PU/Rubber steel 22 300 67 280 100
WJ-203A-ESD | 2" | 50mm | M12'35 TPR/Rubber steel | 22 300 67 280 100
WJ-203B 2" | 50mm | M12:35 TPRIPURubber | steel | 22 300 67 300 100
WJ-203B-ESD | 2" | 50mm | M12'35 TPR/Rubber steel | 22 300 67 300 100
WJ-203C 2" 50mm M12%35 TPR/PU/Rubber steel / 300 67 280 100
WJ-203C-ESD | 2" | 50mm | M12'35 TPR/Rubber steel |/ 300 67 280 100
WJ-303A 3" | 75mm | M12:35 TPRIPU/Rubber | steel | 35 500 95 480 50
WJ-303A-ESD | 3" | 75mm | M1235 TPR/Rubber steel | 35 500 95 480 50
WJ-303B 3" | 75mm | M12:35 TPRIPU/Rubber | steel | 35 500 95 580 50
WJ-303B-ESD | 3" | 75mm | M12'35 TPR/Rubber steel | 35 500 95 580 50
WJ-303C 3" | 76mm | M12*35 TPRIPU/Rubber | steel |/ 500 95 450 50
WJ-303C-ESD | 3" | 75mm | M12°35 TPR/Rubber steel | / 500 95 450 50
WJ-403A 4" [ 100mm | M12*35 TPR/PU/Rubber steel 32 600 132 630 40
WJ-403A-ESD | 4" | 100mm | M12°35 TPR/Rubber steel | 32 600 132 630 40
WJ-403B 4" | 100mm | M12*35 TPRIPURubber | steel | 32 600 132 780 40
WJ-403B-ESD | 4" |100mm | M12'35 TPR/Rubber steel | 32 600 132 780 40
WJ-403C 4" 1 100mm | M12%35 TPRIPURubber | steel |/ 600 132 620 40
WJ-403C-ESD | 4" | 100mm [ M12'35 TPR/Rubber steel | |/ 600 132 620 40

29

series

Normal-Type

Code BIE

AD3-3250-10

D/EE (mm)

32

Hight/SE

L (mm)

50

Stem Diameter

EEFHE ()

M10

AD3-3250-12

32

50

M12

AD3-32100-10

32

100

M10

AD3-32100-12

32

100

M12

pictureE R

AD4-5050-12

50

50

M12

AD4-50100-12

50

100

M12

Rubber -Type

AD5-3850-10

38

50

M10

AD5-3850-12

38

50

M12

ESD BLACK
AD5-50100-10 50 100 M10
AD5-50100-12 50 100 M12
AD6-3260-10 32 60 M10
Rubber Pad-Type
ESD BLACK AD6-3560-10 35 60 M10
AD6-5460-12 54 60 M12

H3lsvo BE

30



CRNERL)

Roller Colorfifs

(" )WH White

YE Yellow

Type & DimensionX&8 IR

Series#5% 40 series

ltem No.F= & RTA-40A RTA-40D
High(mm) 2.5 42.5 43
Slot High(mm) &5 35 32
Groove width(mm)#& s 40 40
Roller Diameter(mm)iz 33 30
Wheel width { mm ) % 20 20
wheels distance(mm)ie i 41 30
Roller Pitch(mm)#$T &5 :&" 4 4

31

RTA-40A

Aluminum Roller Tracks [EEE2E)

OD of wheel /S8 33mm

LW/AKE.BE

4000mm.40mm

Weight/ER 0.5kg/m

RTA-40D

OD of wheel /88 30mm

LW/EE.BE

4000mm.40mm

Weight/E & 0.8kg/m

RTJ-2040C1-AL

RTJ-2040D1-AL

Material/#5H

8

Aluminum/{8

Colorgita

white/yellow/esd black A&/ &/FHEER

Package/fB# 4pcs

20
)

—20—

1
i
[}
1
o] Wil ]

=
P N> N> N

H= == == = 4 - — t

{ E I8
| o ) |

S g X b SR b SR me v

Material/#[H Aluminum/8
ColorEifa white/yellow/esd black B&/E&/HEFEER
Package/&8% 4pcs

Roller track joint

RTJ-2040EF-AL

RTJ-2040P1-AL

RTJ-2040EP-AL

SUOVHL HITI0H NNNIANTY B IHEE

32



33

Roller Colorfiifa

.EB ESD BLACK Biises @

.GR GRAYRE

.BK Black®Z e

.SL SilvetR &

REPR B 71450

plastic AR

aluminum f8# &

steel %tk

[EANRE
28AD-1A @cESD O GRAY @«

.
‘ ‘ + T 100

M10/M12 400

28AD-1B @®csD ® GRAY

N\

M10/M12

28AD-2 ®sL

i
R
B
i
*
>
o
—
=
7
—
>
o
0
m
7
7
8]
Z
%
-
{
g
m

28AD-3

34



BIRRB {2
28AD-4 ®sL

JdAL AMOSSIADOV 1SNrav HRIEJE

4550,
z

200

& J
ME*3
@33
e $30.5
N |
i
c\“;y Mo ‘
&) ,i ‘ z 2
I
I
.
) J 170
- - 130
o ol L\ 3{?\ (]’\
7 R ST

®33
30.
m’@xl}
170
130
g 14 fhay 4
- HR S 2-gl2ms

35

BOPRB {152

28AD-5C

@33,

104
00

JdAL AMOSSIADOV ISNravy RIENE

28AD-5D

A

28AD-1

170

130
PN+ —
THO =

1854

83.50

103.50

Ca SUREIPE -

37

8520 QJE—_ '

36



IdAL AMOSSIADOV ISNrav RIJNE

37

BOPRB 52

28AD-8A

em No specicaion \Ji3enE o ey S
. F 2 (mm) ™ mm) (N) (KG)
28AD-8A-3 3" steel 62%91 96 120 80kg 1.4kg
28AD-8A-4 4" steel | 6291 | 125 151 | 100kg = 1.6kg
28AD-8A-5 5" steel 62591 154 180  120kg  1.8kg

28AD-8B

Item No specification MFram_e A*B H1SE Hz | koading WEigsht
BE M SEmm BERYT (mm) Frenm AR B
(mm) (N) (KG)
28AD-8B-5 5" steel 120%120 154 180 150KG 1.8kg
28AD-8B-6 B* steel 120*120 170 200 200KG 2.2kg

0 7Movab|e accessories
EEJE Wi

38



EEES T

BEES T

28AT-2R-150

. = S

28AT-2R-31 28AT-2B-31

i '. e '

28AT-2A-55 28AT-2B-59

28AT-2A-100 28AT-2B-100

S31YO0SS3IDOVY I1avAaon FEIBEELL)
SIIHOSSIDOVY I1avAaon FEIBEEL L)

100

D

39 40






PEES S EEES e

SIIHOSSADOV A19VAON FE P& L
S3AIYOSSADOV I19VAON F P& ol

28AT-12B

28AT-10

28AT-14

43 44



EF#EE MOVABLE ACCESSORIES

40
5

o 59.5
-
e iy
18
MBx12 N
Gl

B EhREH

Movable Accessories

3.3

@3

REIESMES

Movable Accessories

EE#EE MOVABLE ACCESSORIES

46

45



BEES S
28AT1-24

S31YO0SS3IDOVY I1avAaon FEIBEELL)

51.50_,

3R.30

VAYAVAVAVAVAVAVAVAVAN
AL A AN

E E
MTLITILT

SIIHOSSIDOVY I1avAaon FEIBEEL L)

20.5:

942

0

450 4

32

55.5

34




BEES T
28AT-26B

28AT-28

BEES T

49

8] 8]
il il
#* 3
[ [T
ik &0 O ik
= I =
2 T 2
;6; 25 \y@“ g
rn | 4 :
Say WY 2
: L—%ﬁg@‘ﬁ; g L $
m 2 S o m
3 o s | 3
m m
[¥)] w
Gravity barEBH &
e - Length (mm Weight (k
5995 Item NoB! & Material#1 & 9 Eé ) QEE( 9)
| yn 28AT-28A aluminum+iron ($B+%) 64 0.25kg
EREE 28AT-28B aluminum+iron ($8+#) 79 0.5kg
| ~ 28AT-28C aluminum+iron (f8+%) _ 134 1kg
' 28AT-28D aluminum+iron (f8+%) 7 267 2kg
28AT-30
156
@ g
———
nylon ropefE 154
15.5(5] L th ( )
) = AT Item NoB! S rope Dia (mm) @REF Al Elﬁmm COLOREI®
(M4 ] =
Wax25 28AT-30-2 2mm 30m blue
v «|2—°|n m 28AT-30-3 3mm 50m blue
o H i | 28AT-30-4 4mm 100m blue
. %:ﬁ[;@, --f}es g |
(M3x8) i “I (M3x5) :

50






BE M BEEM

28AC-13(ABC)

Lengthof wirerope rope Dia (mm)

WEmiE BREgE
28AC-13A 0.5-1.5kg 1.4M 2.5 40
28AC-13B 1.5-3kg | 1.4M | 2.5 50 |
28AC-13C 3-6kg | 1.4M \ 2.5 60 |

Item NoBli® weightll@ (KG)




@iean

Plastic Guide | i A\

8
B
=
s
7
=.
0
@
=
o
m

$39

\
0 9 PLASTIC GUIDE
i JER % e |
z b5 £
:
@ GR GRAYER®
OM 23K () WH whiteE3&
plastic #8434
M 2X @ =« BlackEe
O YE YellowE
56

55



57

B F
1M5 NUT M5 white
1M6 NUT M6 white
1™M8 NUT M8 white
1TM12 NUT M12 white
2M4 slide nut M4 white
2M5 slide nut M5 white
2M6 slide nut M6 white
3M4 Marble nut M4 white
3M5 Marble nut M5 white
3Mé Marble nut M6 white
4M4 FLAT WASHER M4 white
4AM6 FLAT WASHER M6 white

I HBRE
TN330 round screw M3*30 white
TN420 round screw M4*20 white
TN610 round screw M6*10 white
TNB12 round screw M6*12 white
TN618 round screw M6*18 white
',_ = TN620 round screw M6*20 white
‘:ﬂ . 1N622 round screw M6+22 white
TN625 round screw M6*25 white
TN630 round screw M6*30 white
TN635 round screw MG6*35 white
TN640 round screw M6*40 white
TN835 round screw MB8#*35 white
2N405 include screw M4*5 white
2N408 include screw M4*8 white
2N8 include screw M8*12 white
3NS5 Flat screw M5*15 white
3N610 Flat screw M6*10 white
3NG614 Flat screw M6*14 white
3N622 Flat screw M6*22 white
4AN3 Half round screw M3*12 white
4N4 Half round screw M4*14 white
5N6 handle screw M6*15 white
5Ne6 handle screw M6*35 white
6N6 Perforated screw M6*30 white




59

ANNS

@s. sive s

19mm series

Materialt4 & LengthicE

Extrusion i

6063T5

Die-casting &%

19
#IG, ——!——-‘_1_ I _,71274_ 7
NV |

; N 18 " T
o i
S W e |
\-\\“:-—_j:—{j» = \.\7,\“.\\?\ :;Jfft‘r’

i e —

606375
0.173 kg/m
4/6 Meters

BT o

6063T5
0.16 kg/m
4/6 Meters

28
35

1.9

24
6063T5

'n\n_'rg.thl 0.15kg/m
4/6 Meters

\.1.1[-:1 ial 6063TS
0.15kg/m
4/6 Meters

BT e

606375
0.56 kg/m
4/6 Meters

60



I 1955 I 19%&%1

0.02 kg 300 pes 0.048 ke

=

1
A

N |

[P 0.023 ke 300 pes Weight  EOKERTS 200 pes

19)-1B-28

(54.8)

0.032kg

0.04 kg 200 pes

300 pes

M5~

e e i
o ml =
5 I "

0.024 kg

0.012 ke 300 pes

300 pes



19 Series

s3IuaS 6L WiMGL

| weicht  JUGBERSY

19)-9-28 Y

]
| EFE
8

| Weight  JUGIEEES [ Package JROIIES L

___19cap1 N

43 541

Series®% Roller Colorffif®s Materialt3 & LengthicE

0.001 kg

2000 pes

I 0005 ke

Extrusion £ &

@s. sive s 606375

43mm series

Die-casting £t

63 64



s3y3IAS e AWey

P = 43F&%)

AP-43A @sL

— ¥

606315
0.76 kg/m
4/6 Meters

AP-43G ®sL

606375
[ Weight JRIRCEFY
Length 4/6 Meters 0.009 kg

0.12kg 80 pes
0.123 ke 100 pes

65

Max30
ma

saMaAS er WMy

6063T5S
1kg/m
4/6 Meters

®EE ( GR @BK

33.6 30.2
' 7
A
- g
|
786

124.4 r_'ri

120 | i :

[

||

i |

Ll

J_l |

m

i |
ARy
T T |

MEx18

66



RN

44

28 J

[Q h ,\ 28 2= A— (44x2) 2= A— (44%2)

" 28]-1A
59
=

J@IJ 5 7 |28 2= A- (59%2) o= A (59%2)
S @ 28)-1B
|
<\
28‘ X 5.:
| [ —1
& AN
SIS
KA ¢ /“/::f’
X 7 '/':",4"/ p s
"xrj':/ > e
B
o
28]-2A ! J e=(X—5.4) xv/2 —41
N
X
4 X

67



WJ-LEAN

L e - [ ——

5] -]
A A
& 28PG-5 B
= =
H 26.5 315 r_1|-|
0 11 0
s - — I
z . ) - I— z
(9] (g]
> 28]-3C T Cc r >
= ! | =
O TErT o
b : W ! >
. | | =1
) 1 ] >
B b || :
| Q :
| Kokl
2= A- (30 5x2) 2=A- (44x2) 2= A- (44x2) 2=A— (48 5x2) :Hg"‘?771‘7:’7"’:771’1‘771‘?7:7"77:’7777777:’,"’:77;7 '@ i
- A RS
W 28AC-1
D E D Y
T T o (ot e
o , | Itemn No - Plank size 5 =
=y | I 3 5
S - ——— : T (A=7) x (B=7) A—-80 B-7
C‘®, }r\%“[; ;_i___E-.’—‘-.A-:Bf::@:—‘f:‘::‘:‘____.__L”ib\ﬂlk 28PG-5A-3MM (A7) x (B—7) A—34 B—2
i e A—8) % (B—6 A-55 B-6
F i " 28PG-5B-5MM (A=6) x (B-6)
o 3R (A—6) x (B—B) A-27.4 B-2
L.'ﬂl / ]
o || 7 ®
l""!: /% 1I""|
oo s
F S ®7 .
"t}‘w'{“ﬁ
A
c o E F
2Bmm AXB 375 80mm 500mm 80mm — 200mm
19mm AXB 27 60mn 500m 60m — 200mm
43mm A XB 53 120mm 500mm 120mm — 200mm

69 70



vivVa TYOINHOIL FEEEM

71

. 28 series technical da

i (N 800 EOALIEIE R 120 HAPB Terume Lens ASHE Lenash BRSR i s ot )
SHide the loed Tensile load E vortical K borizantal Com ) /&Ww B eroasnize
§ F F 00 90 60
¢ L 20 15 30
L ano 30 20
500 18 12
e
ALk ¢ et 9 6
(N=m)

\
R () o Ra (v ; KB Longth 2
$hide the |oad 600 Teasits 1ot 275 i ity ) HVF SR Allow vhe foud (N)
E F 100 116
f 2000 a8
300 39
500 23
L
Allomuh| e st 1.6
(N+m)

: in) fif (N} : B Longin : )
b 700 \\%3“” oA 260 ke " | AR A et )
¥ 100 165
+ 200 83

300 53
500 | 33
FR A
Al b ¢ et 16,5
(N=m)

gl lond(N)

4 load(N)

A JoadN)

o

F

v

@iﬂ 170
F

L load(N)

170

IR Toad(ND

'

3490

- 28 series technical data |

%«r

_ A Toraue Load KB Longih | TETF LB Ao the 1oan () ﬁ
® load(N) 7 |
ﬁ' os 1o M vertical KT horizonnal (mm ) B longiimays Bl croserise H
F i 100 200 150 g
L 200 100 75 z
00 67 50 o
500 40 30 r}_
R A o
A1 owat ] ety 20 15
(Nem) 3
>

W s - FHE NS Torque lond A BV P Al Low tho Toad (N D
\'Bll* the load B veriienl KA horironcal {mm) BR tomgtinors | Rl crossrise
F 3 100 130 G3
L 200 65 33
300 43 22
500 26 13
FiF O
Al lemshle moment 13 6.5
(N=m)
AR (0 ‘ . AR Lorgen | TEVFIRER A1 Lim the load (ND
STide the load 1100 HEAI o 1 <<S (m) | PEERITN FEEBAR
\/ e o o | WSEL v o)
E E 100 100 100
*‘ L 200 200 200
300 133 133
/4 500 50 50
FiFHE
Al bimibile: moment 40 40
(N=m)
AR () ) el Longth FEVE BRI A1 Lo tho Losd (ND
§10de the load 150 AHERE, Tarans Toed m) &
e it el | W s s wa )
F 100 950 950
200 475 475
300 317 317
a00 190 190
FHiThie
Al bl pomer 95 95
(N=m)

ETER (V) Moo Bl o0 =0 A ERA, Torque 1oug B ongtn | BV SR AL e Loed (N
Stide che lond Tensile lond e B vercienl *’F hor{zantal {mm ) W Bentimays i crassuise
F A r 100 500 110
‘ L 200 250 a5
300 167 37
500 100 22
FIEAE
Al loibile moment 50 11
(N m}

72



. 28 series technical data | . 28 series technical data

§ g
;l ‘ wEhind u”' 1500 ﬂﬁﬁﬁ (N) 600 ‘\ A Torque 1oad «E‘ﬁ|:=““h ﬂﬁ"ﬂlﬂﬂlw the boad (N) '
m Moy v B ivime | Mo B cuimars] Mercummive | | MM Toraus Tond m"',""h BHAR A e 1t () et fore B varciont S i F | Wil [ Breete m
4 s AV F ; : 100 330 120 O
% F 100 85 E: A %
: F 200 165 60 ;
—_ F 7/ e
O (N 180 o Zu\g\:\ﬁ i L 300 10 10 2l
» i 300 28 . =
I % 500 66 24 (=2
o 500 17 o o
1’1‘ 16 12.5 (:Iﬁ:hﬁ A%ﬁ. - 33 12 2’(
- ' o meni 8.4 . .
> et N -m) = >
R () o0 i} &  Torque oad ‘&El,a.nlt“l #Wﬂﬂ*ﬂﬂ' the Tood (N} - ”F*;“E'N" 420 IERE Torque load 'E'-ig-u;llh RS M Lor (he 1ot (N
Slide the load TR veritont > A horizontat mm ) [T — B crosseine %‘m N
i ¥ 100 100 65 E 5 199 50
L L F 200 50 33 ef_%;; 200 25
300 a3 22 [ = | 300 16
- 500 20 13 ;;‘;ﬁ ¢
B i 5
mﬂu.ﬁ.- 10 6.5 ”"E’;;": e 5
(N+m)
a0 400 ﬁﬁﬁ.ﬁ(ipn ue Load 100 ;ﬁ!ﬁm Torque Load Jetprongn | FRIF SR Aliow the 1osd (XD RN () 00 B 00 - FIHTB Torqus Toad P T R R )
Slide the load an *m) 104 B8 (8 ) Lareral wse (o) BT B FE] Loeral wse Sl ide the lond Tonsile land BB vartiont K mim{_"g/ o Bl tengimars | | Elcrvemcine
F F F ‘ 100 85 F ) 50 20
200 43 E L 25 10
L 300 28 17 7
500 17 10 4
HVF
Alleweble moein 8.5 5 9
] (N =m)
it (0 JIHE AR rorquo losd 100 ARG Toraue 1oad Kb Longeh | BVESER Atiow the load (X) A () B Toraue Lont HEBE Cengin
I sTide the idad 300 BT ] Laverat e Caxy B LB ] Laverat wse 1t the Tead 960 JE A toraue load 500 FrTTT— t) FEVF BB AL 10w the doad (N}
£ F o0 7 . 100 180
L 200 0 200 90
00 2 : 300 60
500 11 500 36
S EE N it
/J.Ihuhln--m 7.2 Mﬁeﬁm 18
(Nem) (N=m)
MR O - HIE R Toraue lond 100 ﬁﬁ@@l‘urqua Load et Longen | PRV GLER Atow tho Lo (XD A (N %00 Japhtiey Ny | ERE 420 HERAR torgue Load FeHE Longtt | PRV BB A 0n the Lod (N}
§1ide the load %ﬂﬂﬁ‘m- g na@g Lateral ous Cmm ) , W AR Laceral wse S1ide the Load Tonsile loud Figee 1500 BB vertical T arismarsl = B tengriiin T

100 85 F F F I 100 10 55

F F F
200 13 L 200 55 28
- 300 28 e 300 37 18
500 17 500 22 11
VAR CFiIFhE
Al cambile moment 8.5 Al Tl mepnt 1 5.5
(N =m) (N=m)

73 74




VIVAIVOINHOZL FEEESHRE

75

. 28 series technical data

ﬁﬁﬁﬂ Targque lond

b S R 350 R (0 250 Fefiengen
S1ide the Tond Tensile load R vortical K horinonral (mm) ﬂ\&m. ﬂ:fmhe-
F . . 100 30 10
i L j 200 , 15 20
7 A
L aog\) 10 13
500 6 8
A
A Joublo st 3 4
(Nem)

Mvane Iow ;
FHERTAR (N) SLide the Load 650 #ﬁﬂ@: Xl KB Lenach | TRV SR 011w tho Lont CN)
o HEH rurtlt% HKF horizentnl Cmm ) B, tongthwny s B v

F F 100 160 75

L F 200 80 38

ra' L 00 53 25

500 32 15

e
Al cmaibly it 16 75
(Nem)

A () 100 HANHIEAN) - A roruo tosd HERE ongin | BEVEBUER Mot 1ood (N)
Slide the Toad Tensi aad §
HERL vorticnl A horizontal fmm ) M longt hvays Bl e s
100 40 60
F gl
F L F 200 15 30
Tl 300 30 20
500 18 12
G
Al cmmble moment 9 6
(N *m)
s AR (N) Stide the Toad 280 FHE B Teraue tasd % 10
e

F

HETER () ARG Toraue Tond 400 AHIIAL Torquo 1and A Lenith P
Siide the load 600 AR o Ty w—— T PEVF TR Kitow the Lond
& 100 170
F
I L 200 85
300 a6
500 34
W
Allcmable moment 17
(N *m)

- 28 series technical data

W (0 R Teraue 1oad 400 PAERER Torque 1oud e HE Lengen - s
Slide the load 600 ﬁﬁjﬁ’-ﬁ-{.ﬂ.. m} 1.4 100 1 Pl Lateral wse () ﬁi'fﬁﬁl” the 1 oad
F
b L 200 85
300 56
BO0 34
VA
Allowh |y e 17
(N=m)

e R (0

Stide the load

600

FH R vorque loud

RN w0
| Allowuble mevet

e ot Bbonct 1B Lot FEVT 0L BB Al Tow the Toad (N
10 gﬁﬁﬁmhtiml st ) \\
100 144
200 72
500 18
500 28
BT A
Al b e svment 14. 4

(N+m)

Wy
WHER AR (N FHME Torque 1oad 400 FrHE AR Torque load o SRR et . )
§11de the Jand 600 BT w " BB ot - FEVE LB ALt the Lond (N
r 100 144
200 72
300 18
500 28
FVE
A cmh o o 4.4
(Nem)
280 B oy i oromicn % L tengtimacts | i erommisn HEERER Toraue Lond KA Loneeh FEAT B A how the Load (N
, DN (mm
F # N 100 100
F ?ﬁﬁfﬁ 290 370 B 200 50
(&) L 300 -
FFIE 500 20
fiosiypanl o3 o 308 A
Rem) A lonsi o momnt 10
(N+m)

a0 500 Jri e o 250 AR AR torque toad HeRrongen | HFEEL Ao the Losd (N
S e b e FLverrical KW norizantal Com) B tenthunys: W ernsmise

r 100 80 20

P 200 40 10

L50 300 26 6

bt 500 16 4

FiF A
AL nsh ¢ momnt 8 2
(N em)

VLiva IYOINHOIL REEEMERE

76



. 28 series technical da

vivVa TYOINHOIL FEEEM

AL () 500 Mg (0 0 FIEHHR Torque load eI Longeh #Fﬁﬁmm the Loud (N
Flide the load Tensile load R vertical K horizontal ) K %ﬂlﬂ ] crossmise
80 20
40 10
26 6
16 4
8 2

RN (N)'STid the Toud - HHERIR foran 10a0 FeREvongen | VR ELAA o the uad (N)
o A anR\ K horiontal {mm ) £, Lenthways 8 crosamtse
100 101 1
200 51 21
300 33 14
500 20 8
FF
Mlomchle ot 10.1 1.1
(Nem)

Areh gl (N) stide the Toad N 850 IR Torave Tond Yot rengen | FVEIUAE Aoy the Taud (N)
A7 FEELvertical K harisontal (mm) B tontireeys - [ crommise

100 115 49

200 58 25

300 38 16

500 23 10

1.5 1.9

§ MR (%) 00 R (N KR 420 FHE A Torque load KB Longth BV 10w the Toad (N)
S Slide the Lond Teasile load AL 1500 Ftiverticel 2K horizontal Com Y rengimays | Kjcrosswise
F R T 35
g zqg@ 55 28
300 37 18
&iﬂn P 1t
1 5.5

T s T B IR restn i

1250 i ) 4 05 resin 120 ##ﬁﬁﬂmml Hem) Wi resin 62
500 Tensile Joad e 120 h'n-:ﬂ:n ok 0
F
ey b L

77

i A (N

Reslsunnte |ond

- 28 series technical data |

%«r

SRR O N M (N o JIBT IR roraue load Tl Longth S B0 ALLow the Load (N)
Allow the load Tonwile lond L vertieal AP horinantal tmmn) B rongriways | Bieroswis

100 700 500

200 350 250

300 233 167

500 140 100

T I
Al mcornt 70 50
(Nem)

KeFE Leneth FEVF LI Allow the Toad (N)
ISR Toraue 1osa \<,<S o : =
FOO 108 102
1000 54 51
1500 36 34
2000 27 25.5
o | 54 s
(Nom):
TR vorque toad Kl Lonion | FTEF S AL 0w the 1ot (V)
- fm ) Fl F2
FOO 114 78
1000 57 39
1500 38 26
2000 28.5 19.5
..ﬁf{?.i. 57 39
Nem)

7

A ¥F G T Allow the Toad (N)
HIERE Torque Inu& eI Longth i
) Fl F2 Fa
500 132 116 112
1000 66 58 56
1500 44 38.5 37
2000 33 29 28
FF
Al ownd L omont 66 58 56
(Nem)

Viva WDINHOIL FiEEShRt

78



. 28 series technical data

f‘ﬁi:ﬁl 1900 iﬁf‘?}ﬁ fﬂ: 900 MR Teraue Tond ﬁiﬁ::s"' gi&_\mﬂmwmmﬂm i P (N Resisranes Lond
F I FeoL 100 470
200 235

00 157

500 91

| Al lmabide weawnt 47

VIVAIVOINHOZL FEEESHRE
Viva IWOINHOIL REFESLR

ﬂwﬂnﬂmn load ﬁ?:;‘“‘ BT PR M 1ow tha taad (N
il fafr (N) 30 R (N 30 B AGT (N Keststance load 600
L F 100 180 Ree T wtienee laad Rers imtince |omd
- 200 90
300 60
500 36
FEVFII
Allowabler mament 18
(N m)

HIEREL Toraue Lond : 3 20 B Ao tho 1nad (N HIENMEL (N) S1ide the laad 350 ;
et Mz | WAtk (AFRED | At bR |, VGBS rerque 1od 10
F ,\Em 180 v shide(lse 2) slide(Load down ) s1ide(Laad up ) ,#m;mm the Toad (N 2.9

L
[ 200 90 F F

300 60 / %

500 36

FIFH
AlTosabler moment. 18 +
(N+m) K el
AN TR (N) S1ide the Tond 750 ﬂﬂm (N) $1ide the load & 800 _

A AR Torque losd R angth ﬁﬁﬁ"n‘ﬂa u k ﬂmﬁ‘ (N) Resistancs load 1060 ﬂﬁiﬁ (N Resisines boud 200

F ()
F ‘ . , 100 640
‘ 200 320
; 300 13
g 500 125
##_?Jﬁ{é

At paahile 64
(N&ﬂw

TP N =) Aol e 9 & it R XD Bosistanco o 50

200 i S (ND Reslstance lond 600

F Apdirs 120km

79 &0




81

AL f (N Resisiance lomd

130

WEEh AR (M) s1ide the lose

s

N

W, () A, Toraue 10w 260 R () N MR Torque lead 260
Siide the lond 250 B HHN-m) 13 3N tihb 1oad 230 B RN -m 8
Al leush |1+ mencrsy Al loweibler et

sl (N

Slide the lond

AN Torque 100d

Hno THEHEABN

Al b | v st

el e (N

Elide the load

400

AR Torave Toad

300

FEVF AN m)

Allowials | et

5,75

I

oo

BEFE RN -m

Allerwab o moment |omd

HE AL ORN-m

Allawabde momeit Boad

iahinaR (N

Slide the load

195

IPEREL Torque 1oad

300

HERDUER (N)

Slide the lond

A:Outside dimentsious

-‘.

B:Center to center dimentsious

Frame length

|
W AP-28A
F Fh 5/1000
/ 1000 5 185 581
m AP-28B -
i
500 25 1800 1400
T 1000 5 334 994
E <t
l /1000
500 25 799 1344
1000 5 250 672
WAP-28C
G
0
500 25 1600 1800
4 1000 5 283 G966
F
l <ty
800 25 1600 1540
1000 5 507 770
mAP-28D
@i
F
|
500 25 1540 1600
1000 =t 511 868
'I: @0
/ 500 25 1600 1600
1000 B 430 864

82



W AP-28E B
500 25 1552 2310
1000 5 388 1155
<
500 25 2000 2000
1000 5 1968 2000
B AP-28F
500 256 1155 1600
1000 5 289 861
W AP-28G
500 256 1350 1600
1000 5 338 1008
W AP-28H
F
i X i1 5/1000
1000 5 247 707
WAP-28]

W AP-28G

83

>

1000 5 390 1155
<>
iR (m) BALE (N
w length Mius dmmm | o
500 25 3200 3200
1000 5 3200 3200

500

1350

1800

1000

338

1008

315
oy
3
D‘@ -4 2= A— (31.5%2)
LA

2= (X—4.3) x//2-31.4

19 X
I ;
Y
< 1
o
A
%
£
24 A
e o o=y (X—24)2+ (Y—24)2-41.4

£=A-(31.5%x2)

N
4 }19
1 B=A— (31.75 X2)

19]-1B

2= (X—2.5) x+/2-31.4

=
o

19

L= A—(21.5X2)

84



19 series technicaldata |

YiVa IVDINHOTL SEEESEE

HHRER o AR (%) IVERB Torque load .ﬁul!llﬂl SEF PR Miow the load (N) .
Toryie liud Tegfle Toad s_u-'urli:il ,*"F horizental (mm} %ﬂﬂ,ﬂ M erosmise
F r 100 30 12
|_74 F| oz 15 6
2 : ?4 00 10 1
o [ 500 6 2
" wi
Al et e 3 L2
(N *m)

Hise ik 360 R N TR foraus toad ElErengan | BEPFRER ALl the Lon (N
Torque Toad Terixile load i!,.,.lm\\ KA horizontal (mm) M tertimays i ermeswise

n 100 30 2

P ; | |

\ . ,L?’; 200 15 6

- 300 10 4

- 500 6 2

I
Allmoble: momeny 3 1.2
(N +m)

TR (N) 1 N : : M Longth | e :
$11de the inat 330 Tens b Lo JVEREE Toraue Toad il FEPE T AlLow b0 oad (N)
Fy A § . R 100 30
200 15
300 10
500 6
CFEF IR
ALl moeny 3
N -m)

S saide o)

I~ Silde the |oad

fofi g Ny

Tensile 1oad

R D THE S Ioruse 1oad Rty | BRI the Lo (N
Tensile load B Ererieal B harinemtal das =T [ —
100 90 50
200 15 25
300 30 17
500 18 10
A
PP p—-— 9 5
(N md)

- 19 series technical data

RWRR 00 - IR Torque load e Longin | TREF AR Mlow che toud (N)
Tensile load HEH vertical | ){(ﬁt horizoatal Cum ) E lengthwnys B crosswise

F B 100 170 15

F 200 85 75

L 300 57 5

500 34 3

FiT
Alloanble mooent 17 15
(N*m)

240

A

FIBRA Torque toad

259 TP Toraue 1oad B Lonah | TRERTLER Mlow the Toad (N)
7 BB Laeral e {mm ) B B Latoral e \
F 100 50
200 25
L 300 17
500 10
3 £ :
(Kem)

200

}Jﬁﬁn Torque load

_’fﬂﬁﬂ.ﬂ Torque load

G HE Longth

FEVF AR Al b Maia END

ki S 3.3 B tavoral e VY L
. 100 20
b £
200 10
. 300 6.6
500 4
HIE
Mlowable oot 2
(N=m)

Mensedy (v JIHE 8 Toraue load el Lonsn | FEVF LI Mt iow e ot CN)
SHUR Y e HEP verticnl AKFE horizontal Cmm ) R — [ T

al 100 &80 30

200 40 15

300 27 10

500 16 6

i.ll—:!;?-fn 8 4

{N=m)

Viva TYDINHOIL FiBESERE




87

A:Qutside dimentsious

B:Center to center dimentsious

C:Inside dimentsions

Frame length

m AP-19A
i ¢ fLiF 2 5/1000 R A fh A (D
. i m
1000 5 a5 196
m AP-19B
[
}
500 25 257 560
TiOw RS 1000 5 64 282
i <H>
500 25 133 252
i
1000 5 aa 126
m AP-19C
>
500 25 300 300
1000 5 136 300
F
d I
500 25 300 300
1000 5 144 ‘3aoo
m AP-19D
>
F
500 25 300 300
1000 5 154 300
F <Kt
% 500 25 300 300
1000 5 156 ‘aa0
m AP-192G

o b B/1000

1000

A:Outside dimentsious

B:Center to center dimentsious

C:Inside dimentsious

Frame length

. 63
I e
e 5 =, b 2= A— (63x2)
E=A—(B3x2
@ - s (63x2) () . a3
\ | AN .
43]-1A
48 48
o8 28
J ' =) i) 2= A- (48x2)
;: 7 |aa 2= A- (48x2) 1 [ 7 |4
gl — N ===
[ 43]-1B

[ 2= A— (47x2)

RS () R (N J000 AW Torque 1oad S Lot P A A 1ow the Land (N )
Siide the load Teagile lond Tl vortical K horixantal Com ) $ longlsnys M crossviie

F 100 500 300

‘ 200 250 150

300 167 100

500 100 60

FAF A
T — 50 a0
(N+m)

88



G () . HURER Torase 1ond s || PR tiwsin oA
Slide the lond FE vortical #HF horizontal (mm ) £ St ey W romnie

b 100 660 150

200 330 75

300 220 50

500 132 30

FVF
Allomh | 0 oot 66 15
(N=m)

FIHE AR Torgde 1o Fer Lengen | FFVFIER ALow the load (ND
B vortieal KA barizontal Com ) Hl tenathmays B erosmmise
100 1700 90
200 850 45
300 367 30
500 340 18
B A
Al lowabl o0 momnt 170 ]
(N +m)
W AP-43A
500 25 1800 1800
1000 5 851 1652

W AP-43B

ftiF 775/1000

BXR AR (N

500 25 1800 1800

i 5 972 1800
0

o e 1800 1800

1000 5 875 1701

W AP-43G

£ 5/1000

25

1800

1542




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46

